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Warm Up Grade 8

Feb. 15. 2018 Finding the Percent Increase or Percent Decrease
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2. The volume of water in the tank decreased from 40 L to 32 L.
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Finding the Percent Increase or Percent Decrease
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ook skosk skok skok hnpoﬁant

Percent Increase = Amount of Increase x 100% (Amount of Increase = New Price - Original Price)
Original Amount

Percent Decrease = Amount of Decrease x 100% (Amount of Decrease = Original Price - NewPrice)
Original Amount
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Class / Homework

#16 boy: 90% of adult height is 148 cm at age 13, find adult

pg. 252 -254 height? 43 % aH-= (%8
Girl: 95% of adult height is 168 cm at age 13, find adult
height? 0~°L° = 146
O-40 K=

SHORT QUIZ TOMORROW
Extra Practice 1: # 1 to #7

Use your notes
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Extra Practice 1

Lesson 5.1: Relating Fractions, Decimals and Percents

1.

Write each percent as a fraction and as a decimal.
a) 24.5% b) 22% c) 73.25% d) 995%

Use a hundredths chart to represent 1%.
Shade the chart to represent each percent.
a) 0.3% b) 0.55% c) 0.04% d) 0.9%

e) 0.335% f) 0.5525% g) 0.0475% h) L%

Write each fraction as a decimal and as a percent.
5 3 12
a) 200 b) 150 C) 500 d) 300

16 12 15 28
) 0 f) =5 9 %0 h) 30

Write each percent as a fraction and as a decimal.
a) 0.7% b) 0.44% c) 0.15% d) 0.9%
e) 0.92% f) 0.27% g) 0.55% h) 0.36%

Write each decimal as a fraction and as a percent.
a) 0.221 b) 0.003 c) 0.2225 d) 0.0095
e) 0.016 f) 0.375 g) 0.1875 h) 0.0031

Elaine scored 19 out of 24 on her science test.
Addison had 81.25% on the same test.

Who did better?

How do you know?

During a school tournament, Team A had 10 of its 12 team members present.
Team B had 13 of its 15 players present.
Which team had the lesser percent of its team present at the tournament?
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